Exit Ticket X1 - Averages and Range from List of Data

Correct Answer: ABCD
What is the median of this data? Explanation:

1, 1, 7, 11 | e
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Diagnastic Questions Correct Answer: ABCD

5 numbers have a mean of Explanation:

6, a mode of 3, a median 3,3,57,12 P

of 5 and a range of 9.

What are the numbers? a 3,36, 6, 12 W ——————
3,4,5,6,12
more than 1
option

Correct Answer: ABCD

Thg mean of four numbers Explanation:
is 8.

When a 5% number is
added’ the mean increases --------------------------------------------------------------------------
to 10.

What is the 5™ number?
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